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Q)

" Journal b)

Accoun tg
A person who draws a bill of
exchangeiscalledits:-
Drawee .

Drawer
Payee

"+ Endorsee

The amount of yearly
depreciation under reducing
balance method:-
Fluctuate 2 &

Remaining constant over the
years

Decreasing year after year
Increasing year after year

Which of the following is a
deferred revenue expendlture

Brokerage Charges i

Legal Fees Related To
Purchase of Land _
Preliminary Expenses
Installation Charges

A book which contains all the
accounts affected by _various
transactlons in the busmess is
knownas:

Ledger

Trial Balance d) Cash Book

Job Costing is not used in the
followingindustry: -

Ship building -

Chemical

Automobiles

Machine building -
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Q6)
a)

b)

c)

Q7

Q9

b)
c)

Marginof Safetyis defined asi-

. A difference between sale and

breakeven,sale
The differénce between the
breakeven sales and cash
breakeven -
The difference between budget

contributed margin and fixed |
~ cost

Difference between budgeted
sales and variable cost

What is the cost of material
used in production * when
operating stock of material is
Rs. 10,000/~ Raw material
purchased Rs. 50,000/,
Carriage inwards Rs. 1,000/

and Closing Stock is Rs.|

20,000/-?
Rs.21,000 b)  Rs.60,000
Rs. 41,000 d  Rs.82,000

" The functions of management

accountingisto:-

Record business transactions
Interpret the financial data
Assist the management in
performing its. function
effectively

Assisttax authority

Which of the following is not
the source of cash: -

Purchase of Fixed Assets
Funds from Operation

Issueof Debentures

Sale of Fixed Assets
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Q10

a)
b)
c)
d)

Qll)W}uch of the followmg method

Contract of mdemmty apphes

‘oni- -

Accounting
Management
Irisurance ‘
Auditing

does” not consider the tlme
value of money: - e
Payback Period

- Profitability Index

Internal Rate of Return
Present Value Method

-Demand forecastmg is

relatedto:-
Previous Sales-
Present Sales -
Future Sales
All of above

Everything that goes to
Increase. the. 1mportance of
subordinatesis known as
Centralization
Decentralization

Delegation

Span of Control

Internal Audltor is appomted
Share holders of the company
Board of Directors of the
company

Statutory Auditor

Institute of Internal Auditors
of India
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Q15)

Auditor of a company have to
reporttothe:-

Board of Directors
Managing'Directors
Institutional Investors

Share holders of Annual

~ General Meeting

Burden of tax can be reduced

. Ta:; Planning

Tax Avoidance

. Tax Erosion

Allof above

Life Insurance Corporation of
Indiaisa:- ik

dJoint Stock Company
Statutory Corporation
Departmental Undertaking

- Co-operative Undertaking

Underwriters are person who
Purchase the shares and
debenturesofa company
Work as agent of the company
for the sale of shares and
debentures T e
Manage the issue of shares
and debentures -
Undertake to buy those
shares and debentures not
subscribed for by the public

Slip System of book keeping
includes: -

Payin Slips

Withdrawal Slips

. Cheques -

All of above
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Q20) IfashareofRs. 1006n which Rs.
: 6 has been paid is forfeited, it
can be reis
price of : -
2)  Rs.4pershare
b).  Rs.6pershare
¢)  Rs.10pershare
d  Noneofabove

sued at minimum

Q21) The balance of debenture
Sinking Fund after
redemption of debentures is
transferred to: - : :

a) - Profit and Loss Account

b)  General Reserve

c) Debenture Account

d)  Noneofabove

Q22) Securities Premium account is
- shown on liabilitieg side in the
Balance Sheet under the
-~ heading: - -

a)  Share Capital

b)  Reserveand Surpluses

c) Current Liabilities and
Provisions .

d)  Contingent Liabilities

Q23) Which of the following method
1s not related to the valuation
ofequity share:- - '

a)  Intrinsic Value Method

b)  Yield Method -

¢) . Fair Value Method

d)  Super Profit Method

- Q24) -As.per schedule VI, which of

the following is true regarding
the treatment of calls in
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-a)

b)

Q25)

a)
¢
d)

Q26)

8

b)
c)
d)

The amount will be added to
the share capital in the
Balance Sheet

The amount will be shown in
the Profit and Loss account as
a loss without showing it in
the Balance Sheet

The amount will be deductedr

from the share capital in the
Balance Sheet

The amount will be shown
under the heading Current
Liabilities

Which accountihg principle is

violated by including
personal expenses of the
owner in the business
expenses: -

Cost Principle

Going Concern Concept
Entity Concept

Conservatism

Which of the following
equations properly
represents a derivation of the
fundamental accounting
equation? -
Assets + Liabilities = Owner's
Equity

Assets =Owner's Equity
Cash=Assets

Assets — Liabilities = Owner s

Equity
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Q27 P, Q and R share profit and
lossesinthe ratioof 5:3:92. R’
retires and his share is taken
by'P' & 'Q' in the ratio of 1 : 2.
The new profit — loss sharing
ratio between 'P' & 'Q' would

be:- :
a  10:7 b) 17:13
¢ 6:5 | d) " 117

Q28) Which of the following.

statements' preparation is
primarily governed by the
matching principle? -

a) ° Balance Sheet

b)  Income Statement

¢)  Statement of cash flows

d)  Statement of stakeholders

equity

29) Prepaid Insurance éccount isi-
2 Anexpense b) ' Arevenue
¢) Anasset () Aliability ‘

Q30) Who is the author of the booj:,

“The Practice of Management

- (1959 e
&) . Peter Drucker b) Barnard
o  FEWTaylor d) Elton Mayo

Q31) If the eérning power of a firm

is 0.3, the average of total |

assets is Rs. 20,000 and
interest expense is Rs. 1,500,
. then ‘the interest coverage
ratiowillbe: - : ' :
a) ' 15 - b)) 20
o) 3.0 d) 4.0
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Q32)

Q34)

b)

Retained earnings will
change over time because of
several factors. Which of the

following" factors would‘

explain an increase in
retamed.earmngs"
Net loss

Net income

+ Dividends

Investments by stockholders

If a company is Fixed Assets,
Current Assets, Long-term
Loans and Current Liabilities
are respectively Rs.
12,00,000/- Rs. 2,50, 000/- Rs.
1,50,000/- and Rs 1,00,000/-.
Net Working Capital is:-

Rs. 12,00,000 : ;

- Rs.9,50,000

Rs, 1,50,000

~ Rs.17,00,000 .

Which of the following is a
Jliquidity ratio ?

Return on Equity

Return on Investment
Acid-Test Ratio

Debt-Equity Ratio

Bad loans in banking
termmology are  generally
knownas:

CBS

PLR

NPAs _ -
CRR : ,
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Q36)

Which of the following will not
result in. an increase in ne
working capital? , .
Increasein cash ot

" . Decreasein creditors

Decreasein bank loan

- Decrease in inventory

The New Capital Adéquacy

- Framework prescribed for the

banks is commonly known as :-

KYCnorms
Credit Policy
Basel Accord

‘Fiscal Policy

If a firm has Rs. 100 in
inventories, a current ratio
equal to 1.2, and a quick ratio
equal to 1.1; what is the firm’s

Net Working Capital?
Rs.100 b Rs.200
Rs.1,000 d) . Rs.1,200

The audit which is pérformed

" by a statutory auditor

throughout the year is known
as:- B

Internal audit

Interim audit

Annual audit

Continuous audit

“A person dealing,with a
company must satisfy himself
that the company has power to
enter the proposed
transaction.” This is the
requirementof': -

36
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Q43)

Q44)

Doctrine of Ultra Vires
Doctrine of Constructlve
Notice

Doctrine of Buyer beware
Doctrine of Indoor
Management

Which of the following is not a
part of -the process of
auditing- |

Examination of vouchers

Seeking certain explanations

from officers and staff of the
firm

Preparation of balance sheet
and Profit & Loss Account
Preparation of Audit Report

Certificate of Commencement
of busmess is not requlred
by:-

a public company

a private company

private compahy subsidiary
to a public company

company limited by shares

A person cannot hold office at

the same time as Director in
morethan:-

5 Companies

10 Companies

15 Companies

20 Companies

Which of the follow1ﬁg banks’

was merged with ICICI Bank
in 20107
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a)  BankofRajasthan
b)  Bankof Maharashtra
©  Karnataka Bank '
d  Global Trust Bank

Q45) In a moderately asymmetrical
\ distribution, the mean and
median are 22 and 26
respectively, then the value of

Mode would be: -
a) 25 b) 24
o 34 d 04

Q46) Which of these items would be
accounted for as an expense?
a)  Repaymentofabank loan
b)  Dividendsto stockholders
¢)  Thepurchaseofland _ :
d  Payment of the current
: period'srent

Q47) A capital budgeting technique
that explicitly incorporates an
estimated interest rate into
its basic computations is the:-

a)  Payback Period Method

'b)  Accounting Rate of Return
- Method _ '

¢ NetPresent Value Method -

d . Internal Rate of Return
Method

Q48) How many Accounting
Standards have been issued

sofarby ICAT :-
a) 29 b) 30
o 31

") RweTwEEs
g SawerHggHeg

R) 9%y
®) BT Sy
Ws Y W whor wfyer ofe o
ol S 22 w2 26 I3, 3 agss
THB I - :
") 25 H) 24

A) 34 - €) 04

Y6  Rous =S afudhi e o9 i vag
. Pufeafresty aears

") B Segen @ vt

¥)  ACE-I8IImE TINH

A isdudie ‘

T) Emﬁmmem

W7 B Al we sadta ¥ wensfy
¥ W9 3 W ym Waes ofg
#gaarg“maae}é:-

M) mmwém

¥, TuR s S vagefneg

A FowswsysIE .

e) Tuftsdedwisgaes

yug ICA‘FEGFE'Q‘EﬁHﬁ'?WHTEE{FI@

I TS - )
™ 29 o 0

4~ oy {m =2 / T %

A


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

PPUDAC Siv

Q49)

Under which method of
depreciation, ' the value -of

assets nevercomes to zero :
Straight Line Method
Diminishing Balance Method
Depletion Method -

* Sinking Fund Method

If two co-efficient of
regression are 0.8 and 0.2,
then co- efflczent of
correlationis: -
-0.16- b)
-0.40 d)

0.16
0. 40

Which of the fol[owmg Isnota
source oflong-term finance : -
Commercial papers
Debentures

Equity Shares

Preference Shares

In which of the followmg
mventory control method,
items of inventory are
classified according to their
value and importance : -
Perpetual Inventory System
A.B.C Technique

Economic Order Quantlty

AH of these

Suspense account in the trial
balance sheet will be entered
inthe:-

Trading Account
Profit & Loss Account
Balance Sheet

N one of these
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Q54) Goods destroyed by fire should
_ be credited to: - .
a)  Goodslost by fire account

b) Sales account

¢} Purchase account

d) Cash accotint

If financial leverage is 2 and

Q55)
EPS increases by 10%, then
EBT will increase by:- .
a) 8% -
b) 5%
0 12%
d  20%

Q56) Aggarwal Developers Limited
forfeited 500 shares of Pankaj

of Rs. 10 each fully called up

for non-payment of final call of

Rs. 3 per share and reissued

to Radha ag fully paid up for

Rs. 9 per share. ' Amount
transferred to Capital Reserve
Account will be : - ;

a)  Rs.3,500

b)  Rs.3,000

¢ Rs.1,500

d  Rs.5,000

Probability of getting - 53

1 Q57
Sunday in an ordinary year
willbe : - :
a) 1.
b)  1/7
o 2/7
d o

® o

YSL T BT i e T3

.- oxEsfedder..

M AN ENT s EEe

" = Az

A)  udedy

€)  agty :

455 Aag et o 2 E}'mj"sps_wg EL Y|

, Sfd, SesT.... S

M) . 8% ' \

9 5%

H) 12%

) | 20% _

ys6 RISEE ITBUIN BhifE & 3 gus ||
AR A= R F |
Wﬂﬂﬁégu%rﬂéwgué T8 500
RS ECCE o ETT S §
Mtﬁs’rmmmma}g :
T 2 0 MY IT § ewe et 3

™) 33,500 .

) d. 3,000

) g.1,500

¥  9.5000 ; ) |

H57 . e w99 =g 53 MITe I F | .

; -Ff"?f!@?srE‘Jra*ai’r;?ar'a-;T . o

R PR | . .

H) sz

H) 2/7
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Q58)

The opening balance of
provision for taxation
account is Rs. 20,000. If

- closing balance is Rs. 30,000

and amount debited to profit
and loss account by créditing
'Provision for taxation
Account' is Rs. 34,000. The

- ‘amount of tax paidis: -

a)  Rs.44,000

b)  Rs. 24,000

¢)  Rs.16,000

d)  Rs. 14,000

Q59) PQ Ltd. maintains very low
or no inventory levels. It will
have:- ‘

a)  Higherordering costs

b)  Highercarrying costs

¢ Highercairying and ordering

5 costs >

d)  Lower ordering and carrying

‘ cost ) )

Q60) Break-even analysis
assumesthat:-

a)  Totalrevenueisconstant

b)  Unitvariable cost is constant

¢)  Unitfixed costis constant.

d)  Allofthe above :

[

=)

Y58

)
=
A) .
T)

Y59

TS H3 I ygRTs Iy
=87 20,000 g. 31 A5T Mt @R

30,000 §. ¥ M3 'TIUE ¥ E

YI=UE BT 34,000 3. e
FI6 BT IH &I W3 TE U =fg
mwalaaéﬁﬁ?mm
44,0008
24,0003.

-16,0009.

14,0003.

Pamagaw%#éém@

- Ungadl s Juer I fmas 3 -

)

")

&)

Y60

n) -
=)
H)
)

=

CER b

- GosaEedisqy

o ETETE I wRE BT

g
dBTIAElgd

gafe yafeass sa3 nafad
gsfesfrosmaz rafgd
Iz A



www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

PPUDAC sIv

Q61)

c)
d)

Q65)

M&m

Y FESS, T9g
The Char Minaris in:-. Ye1 Wmﬁg—,wma
Ahmedabad ’ W) wigfiewe
Fatehpur Sikri W) . e3ougies
Ahmedanagar . ‘ : P
Hyderabad A viehresae
o Q) Jegwgw - -
Who was the first woman to \ T
become the Prime Minister of | 162 #7e Sfoens ‘ETEG s
acountry in the world : - I e - '
Benazir Bhuto - ") Serle e
Indira Gandhi o ") fiegrard
Margaret Thatcher :
i ; A)  HEERedge .
Siri 0 Band aik " :
mavo Bandaranaike 14 , . y
Which of the following is not Y63 I I afgm =fs gog =g ¥y
observed in India as a | TR FE R QU =l at Harfenr i
‘National Holiday? L 3e -
26" January ") 26Fmedt
15" August 9 1svEES
5!: September H)A 5 Hg"ga
y 2 October . 2“@
The most ancient musical | Yeu I Buaf =73 7 T yaver Hfg A
instrument among the i : o :
followingis: - ‘ E -
‘Sarod  b)  Tabla MR 9 T
Veena  d) Sitar L g - ® HfEw.
Vhichofthe followingisnota |¥ss 35 =3 & W7 wwsdl xefy
Ic(lasgicfl dance? (FEHES 3R 5 3 ?
atha ; FEer
Kuchipudi I
Garbha 5 el
Odissi . N

A IEw
A L
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Q66) The world famous Khajuraho

Sculptures are locatedin: -
a)  Gujarat :
b)  Maharashtra
C Madhya Pradesh
d) Orissa

Q67) Where is the National Defence

Academy situated?
a) Wellington
b) New Delhi
Dehradun

d)  Kharagwasla

Q68) The state with smallest
populationinIndiais:-

a)  Sikkim b)  Goa

¢)  Mizoram d) Meghalaya

Q69) The birthday of which of the
following leaders is observed
as Children's Day?

a)  Mrs. Indira Gandhi

b)  Mahatma Gandhi -

¢)  Atal BihariBajpai

d) JawaharLalN ehru ’

70> ISIstandsfor:-
a International Standards
Institute
b)  Indian Statistical Institute
¢) Indian Standards Institution
d Indian Services Institute

Q71) In the number serles given
below one number-is missing.

Find out the missing number | *

from amongst the choices

_ 2,8,26,80,..........
a) 120 - b) 160
c) 222 d 242

Y66 mmﬁmm@mm

eﬁn‘aﬁraa
") - JAITS _
9 Hgdgwes - -
H)  Waygewr
) edmr -

Y67 - IHC Ho UM e I raf3d ?
n)  WwWRES

") w@efa

H) TSJIEs

¥) YIRS

Y68 a'aa'eéfu'ﬂaéw'znrwérwa*ﬁ |

i NELT - N o i
H)  HfA9H T Hwsfr

Ye9 Jot =it afit 337 T AoHels 5 efen
TgusfgHaferaerd ?

W) Fos T

)  HIIHIIT

H) g "igrdt g g

g ARIIEmEaIg

7o ISl % TS -
) International Standards Institute
) Indian Statistical Institute

H) Indian Staﬁdards Institution

<) Indian Services Institute

L U71 IS S I w9 qRE =Y e sEg

- rfere 3| Sfamur ey arfes SEg T Uzt
BAre - '
2,8,26,80,..........

| 120 " - H) 160

H) - 222 <) 242

LY
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%72) Car: Petrol: : Television:9 .
a ' : .
b)

Electricity

Transmission
¢)  Entertainment
d) - Antenna

Q73) Inthe following questions, out
. of four given words three are
alike in some respect. Which

oneisdifferent: -
a)  Circle :
b)  Ellipse
¢)  Sphere
d) . Cube

Q74) Four groups  of letters are -

given. Three of those have
some similarjty. Find the odd

oneout:-
8 o b)) pg
0wy d  LO

1.978) Pis the brothede QandR. §

is R's mother. Tis P's father,
Which of the following
statement cannot be
definitely true?

a) QisT'sSon’

b)  TisQ'sFather

¢)  SisP's Mother

d  PisS'sSon .

Q76) Find from the alternatives the

missing number which can:

complete the series ; -
5,11,23,47,....7

a) 63 ‘

b) 70

0 95 oM s
d 98 w ® !e) 98

-
) IVTEg
) oy
LV -

[ w _ !
frdA ﬂmafé?aarg'”uef?-méaalféw '
A SelesT T Ryt e

1!3"331'@ - ’

™) ' cf H) ps

H) wy ) Lo

'1{75 QMBREIT P RAWT s pr

FUIHTERIFEE 2 ﬂ
W o QTEYIId :
9. TaTufsd _ |
1A s pehyd .
B psTyIgd '
| e =famu =Y ey aar B3R fom
- BAgYTITAA. -
5,1,23,47,....7
") . 63

L{.TE E!'a:!-l‘c:és::?a'feﬁ'-g?s;?.

) L)
¥) . Howg -
) . H3TEs
T . ey

W3 I efd rew o, o @ g e
ﬁ?ﬁsﬁ’é#ﬁ%naﬁaﬁm

U T I5t 2 S Tum afrory

1)) 70 \
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Q77) If CAT is written as BZ S, how |
can AUNT be written using the

same code? o

a) ZIMS b) ZTMS

o BVOU d AVOU

Q78) Choosetheodd manout:-

a)  Meter :

b)  Yard

¢  Mile

d)  Acre

Q79 In the following - question,
insert the group of letters from
amongst the alternatives in
the blank space, such that it
completes the first and begins
the second: -
TOR(____)AIR

a) CK ‘

b) CH

¢  ESS

d . KS

Q80) Rootistoplantas........... is
to human being : - :

a) Bone

b)  Blood

¢  Heart

d)  Pancreas

W7 AE9 CATE B 2 s @S B A 3,

TS 37 € 793 I 3¢ AUNT B R
gfuforaar ?

")  ZIMS - ") ZTMS

H) BVOU <) AVOU

s SREdEas -

w) o ieg

q9) dW

A - s

€ 8.

o ds el s afy, vt vt =fy T
< Wug' 2 agy v9n a9, Ak affew
I8 5YT" g9 ° W3 g 3 o
TOR(____)AIR

™) K

9) CH

H) ESS

9 ks .

Yyso Uesfomgwdvayefo... ... .-

wy  J&t

9 W

" =

¥  Uaggfre
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. Direction (Q 81 - 85) : Read
the passage given below and
answer each question that

- follows by choosing the
correct alternative. -
Ifyou eat good food and have a
clean bedy you will be
healthy.  You should eat
vegetables, fruits and drink
milk. You should sleep for
eight hours everyday. - You

should -also wear clean

- clothes. Lalit is a good boy.
. He wakes up early and takes
abath. He has egg, milk and

fruit for breakfast. He always [ |

* wears clean clothes. Lalit is
very healthy.

"Q81) What should you do to be

healthy *
a)  eatonlyvegetables ‘
b)  eatgood food and have a clean
' body
o). drinkonlymilk -
d)  eatonly fruits

Q82) How long should you sleep

everyday ?
a)  foreighthours
b).  forsixhours
¢)  forseven hours
d)  fortenhours

' (%83) When does Lalit wake up ?
a

c)

i %84) Why is Lalit a good boy ?
b)
b

c)
d)

Q85) Which word in the passage is

a)

c)

Q86) Umang lives ......... o

Delhi,

8) - at b)  for

¢ -in d) with

Q87) He flies . . ........... '
aeroplane. _ :

a) an b))  a

¢  the d)  one

Q88) Sheisgoing.............
park.

a) at b) on

o to d -in

Q89) For one week he stayedas . .. . .

-.evi. guest.

a)  we b) us %

_ ¢ our d  ours

late b)
early d)

after six hours
after eight hours

Hetakesabath

- Heeat good food
He wearsclean cloths
All of the above =

the adjectival form of health'?
clean - b)  healthy
wear d)  early

Direction (@86 —90) : Fill in the
blanks with appropriate
articles / determiners /|
prepositions from the options |
~ given below. «
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Q90 Imet.......:...., soldier
yesterday.

a) the  b) a

¢ one- d an

Direction (Q 91 — 95) : Choose the
words opposite in meaning to the

ones givenin capitals.
91) CRUEL
a Kind
b)  Unkind
¢  Soft
d  Comic
(%92) GROWTH
a Dislike
b)  Decline
c) Sorrow
d) Poor
(%93) FAIR
2} Foul
b) Cheap
)] Humble
d) - Weak
94) DISTANT
a Long
b)  Constant
¢)  Humble
I Near
Q)Qﬁ) WICKED
a Bad
b) Mild
¢)  Good
d  True

d  Liberty

Directions (Q96 — 100) : Choose
the words similar in meaning
tothe onesin capitals.

Q96) HUMANE
a)  vivid
| b)  huge
¢  kind
d)  true
Q97) LOYAL

a)  truthful
b)  faithful

¢ similar

d  vivid
Q98) MASSIVE
a)  Huge

b)  Strong
¢) . Many

d)  Small
Q99) MISERY
a)  Loss

b) . Falsehood
¢)  Fraud

d)  Sorrow
Q100) MALADY
a)  Music

b)  Illness

c)  Beauty

Z7

2/7!


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

StudySite.org
StudySite.org

m‘“’““‘”“t""%m“:" T O

i;/
30 PPUDACSIV
S.No.  JAnswers S.No. Answers [S.No. Answers [S.No. oo
%6 D 51 A— |76 E o= W’ 27,1/1/
27 B — 52 B _— 77 B nj,»l,’_ :
28 B 53 C — 78 D
29 C ~ s ¢ ~— |79 B
30 A — 55 B — lso - -
2 = T TN WOF XX [ Se: .
2 Bl e
{33 C— |58 B — 83 c .= )
e , I =
...|35 C — 60 B — sz =
Tl 37 C — |62 D — g7 g
8 < s C — g8 C o ) . .. -
o 64 C = 89 & o
el C  — 90 B ) )
J€ =" 166 SR [ Pt AT = = e
f8. " [57 D — |02 B - 7
et o8 A-- o3 A —
A ——Jgg " D .~ |og A
cC — |70 T C —I
D — 171 D .- |96 c .-
JC . 72 A~ g7 B
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